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EXEMPLARS AND COMMENTS
Introduction

The exemplars below are taken from Questions 7, 9 and 12 of Sample Paper 1 Section B. These
questions have been selected as they address different important assessment objectives in the
examination. Samples of student performance in these questions provide evidence of the learning
outcomes achieved by candidates at different levels. In this CD, exemplars from Level 5 to Level 1
of the same question have been put together. Page references for the suggested answers of the
respective questions in the Information Booklet are provided.

Paper 1 Section B Question 7 (refer to p.107 of the Booklet for the suggested answer)
This question tests candidates’ understanding of the concepts used in genetics and their ability to
analyse the information provided to make a deduction. Their abilities to select relevant knowledge
and apply it to an unfamiliar situation and to communicate ideas logically are also assessed.

Sample 1: Level 5 exemplar and comments

7. Mr and Mrs Chan gave birth to a pair of twins, Anne and Jane. The table below lists some characters
shown by the twins:

Character Anne Jane
Body mass (at the age of 6) 20 kg 21 kg
Colour vision normal normal
Blood group o AB
1Q 110 105
(a) State the type of twins they belong to. Explain how you arrive at your answer. (3 marks)

% it e idoitiinl %m;/w I /ézfm Lo
DI i e st didcndinds z%w%m

1 4//%/% 7@% £ At s m s o

(b)  Given that the alleles for the antigens that determine blood groups are I*, I® and i, state the
genotypes of Mr and Mrs Chan. (2 marks)

Mf“. //%fm : IAAT / TBAJ Me Chaw_> T/:}L/I/(
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(c) Allele I* codes for an enzyme responsible for forming antigen A on the surface of red blood cells.
Outline the processes in which allele I* is expressed to form this enzyme. (6 marks)

% D]UA M;/ﬂf ik _alld, TAM Lo
M Lo Ladive Ao Mo Lln Lrzsis“How
e D it it ccn o Aeflets S

JWM EIA /m g Couflimiliony L /,MZ,, [t
/*‘2%7@/% . MZ/Q, /?m///a,d %ﬂz&’/ﬁé ﬂ@/ﬂmﬂ /r:/)/mm?
b it e B Wmm,gf,m
40%///5 e oot fWM ﬂMM /@
JJ;%, MMWMJMMMM %MM%

mﬁ/’Uﬂ k Cns Mm

Comments

The candidate displays excellent ability to apply the concepts of genetics to the given context and
shows very good knowledge and understanding of the process of protein synthesis. The ideas are
effectively communicated in a logical and coherent way with an accurate use of scientific
terminology.
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Sample 2: Level 4 exemplar and comments

7. Mr and Mrs Chan gave birth to a pair of twins, Anne and Jane. The table below lists some characters
shown by the twins:

Character Anne Jane
Body mass (at the age of 6) 20 kg 21 kg
Colour vision normal normal
Blood group o AB
1Q 110 105
(a) State the type of twins they belong to. Explain how you arrive at your answer. (3 marks)
Ti.f\la/J aont i en 2l Tacal. Twnas... honts il eod. W 15..8

T
winde J o35 K8 For LnTand Tomas.. Mot} vanasl lanse. T
A

MW&M%@MM‘UMW%WWﬁaL

‘%’GM T Shme . eX, Uatant. 284008

%fwtc,o{ o h w\ﬁ»(; £ Tl et PA«V\O i el twies
(b)  Given that the alleles for the antigens that determine blood groups are I*, I and i, state the
genotypes of Mr and Mrs Chan. (2 marks)
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(c) Allele I* codes for an enzyme responsible for forming antigen A on the surface of red blood cells.
Outline the processes in which allele I* is expressed to form this enzyme. (6 marks)
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Comments
The candidate shows sound knowledge and understanding of concepts related to genetics and has
the competence to apply these concepts to the given context. A general outline of the process of
protein synthesis is presented but a few details are left out. The ideas are communicated logically

and coherently, though inappropriate use of terminology and expressions is detected in a few
instances.
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Sample 3: Level 3 exemplar and comments

7. Mr and Mrs Chan gave birth to a pair of twins, Anne and Jane. The table below lists some characters
shown by the twins:

Character Anne Jane
Body mass (at the age of 6) 20 kg 21 kg
Colour vision normal normal
Blood group o AB
1Q 110 105
(a) State the type of twins they belong to. Explain how you arrive at your answer. (3 marks)
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(b)  Given that the alleles for the antigens that determine blood groups are I*, I® and i, state the
genotypes of Mr and Mrs Chan. (2 marks)
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(¢)  Allele I* codes for an enzyme responsible for forming antigen A on the surface of red blood cells.
Outline the processes in which allele I* is expressed to form this enzyme. (6 marks)
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Comments
The candidate shows general knowledge and understanding of the concepts in genetics and is able to
apply the relevant concepts to the given context. A general outline of the process of protein
synthesis is presented clearly with the use of scientific terminology, but some details are left out and
some misconceptions are apparent.
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Sample 4: Level 2 exemplar and comments

7. Mr and Mrs Chan gave birth to a pair of twins, Anne and Jane. The table below lists some characters
shown by the twins:

Character Anne Jane
Body mass (at the age of 6) 20 kg 21 kg
Colour vision normal normal
Blood group o AB
1Q 110 105
(a) State the type of twins they belong to. Explain how you arrive at your answer. (3 marks)

Mwh“)d.e«bwlbﬂnsTheyh@mMereﬂhH@opLaar%pbht%ﬁ'ﬁa‘ii

Addentacal foms. gmust... hex..50me. blood type  dus t.. S0me.. PHA....

(b)  Given that the alleles for the antigens that determine blood groups are I*, I® and i, state the
genotypes of Mr and Mrs Chan. (2 marks)

1™, 1%

() Allele I* codes for an enzyme responsible for forming antigen A on the surface of red blood cells.
Outline the processes in which allele I* is expressed to form this enzyme. (6 marks)
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Comments

The candidate shows basic knowledge of the concepts in genetics and the ability to apply the
relevant concepts to the given context. The candidate demonstrates basic understanding of the
process of protein synthesis, leaving out some essential details in the description. Ideas presented
are also marred by misconceptions. On the whole, the ideas are presented at a basic level of
written communication.
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Sample 5: Level 1 exemplar and comments

Mr and Mrs Chan gave birth to a pair of twins, Anne and Jane

. The table below lists some characters
shown by the twins:

Character Anne Jane
Body mass (at the age of 6) 20 kg 21 kg
Colour vision normal normal
Blood group o AB
1Q 110 105
(a) State the type of twins they belong to. Explain how you arrive at your answer. (3 marks)
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(b) Given that the alleles for the antigens that determine blood groups are I*, I® and i, state the
genotypes of Mr and Mrs Chan. (2 marks)

. N
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(c)

Allele I* codes for an enzyme responsible for forming antigen A on the surface of red blood cells.
Outline the processes in which allele I* is expressed to form this enzyme. (6 marks)
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Comments
The candidate shows elementary knowledge of the concepts in genetics and fails to apply these

concepts to deduce the genotypes. He/she shows elementary understanding of the process of
protein synthesis, and his/her answer is marred by misconceptions and irrelevant information.
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Paper 1 Section B Question 9 (refer to p. 108 of the Booklet for the suggested answer)

This question tests candidates’ abilities to apply their knowledge of enzyme activity to explain the
working principle of biological washing powders. Their ability to analyse the results of a scientific
investigation in order to draw a valid conclusion and to design an investigation to solve a given
problem are also assessed. Candidates are required to communicate their ideas logically and
systematically.

Sample 6: Level 5 exemplar and comments

9.

One of the applications of enzymes in everyday life is found in biological washing powders. To study
the effectiveness of a biological washing powder, three identical skirts with identical fat stains were
washed with the washing powder solutions of the same concentration but at different water temperatures.
The investigation and its results are outlined below:

fat stain fat stain fat stain
skirts before
washing

water temperature
used for washing

| .
result after
washing

(N.B. The investigation was repeated at the three temperatures, but no washing powder was used. The
fat stains on all three skirts remained unchanged.)

10°C 30°C 50°C

(a)  Suggest an explanation why the fat stain can be removed by using the biological washing powder.
(3 marks)
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(b) What conclusion can be drawn from the results of this investigation? (1 mark)
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(c) A student queried whether or not biological washing powder is more effective than ordinary
(non-biological) washing powder in removing fat stains. If you were the student, describe how
you would carry out an investigation to find out which washing powder is more effective.

(5 marks)
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Comments

The candidate shows high ability in applying relevant concepts of enzyme activity to explain the
working principle of biological washing powders and in designing an investigation to solve a given
problem. The description of the investigation is comprehensive, covering the variables to be
controlled, the variable to be measured and the way of interpreting the results in relation to the
problem posed. On the whole, the ideas are presented in a logical and coherent manner with an
accurate use of scientific terminology.
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Sample 7: Level 4 exemplar and comments

9. One of the applications of enzymes in everyday life is found in biological washing powders. To study
the effectiveness of a biological washing powder, three identical skirts with identical fat stains were
washed with the washing powder solutions of the same concentration but at different water temperatures.
The investigation and its results are outlined below:

fat stain fat stain fat stain
skirts before
washing
10°C

water temperature
used for washing

| .
result after
washing

(N.B. The investigation was repeated at the three temperatures, but no washing powder was used. The
fat stains on all three skirts remained unchanged.)

3 Ou 5 Oo

(a)  Suggest an explanation why the fat stain can be removed by using the biological washing powder.
(3 marks)
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(b) What conclusion can be drawn from the results of this investigation? (1 mark)
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(c) A student queried whether or not biological washing powder is more effective than ordinary
(non-biological) washing powder in removing fat stains. If you were the student, describe how
you would carry out an investigation to find out which washing powder is more effective.

(5 marks)
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Comments

The candidate shows competence in using the concepts of enzyme activity to explain the working
principle of biological washing powders and in designing a scientific investigation. The candidate
has an idea of controlling variables, but the way of measuring the results is not clearly presented.
On the whole, the ideas are presented with the use of appropriate scientific terminology.
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Sample 8: Level 3 exemplar and comments

9. One of the applications of enzymes in everyday life is found in biological washing powders. To study
the effectiveness of a biological washing powder, three identical skirts with identical fat stains were
washed with the washing powder solutions of the same concentration but at different water temperatures.
The investigation and its results are outlined below:

fat stain fat stain fat stain
skirts before
washing
10°C

water temperature
used for washing

| .
result after
washing

(N.B. The investigation was repeated at the three temperatures, but no washing powder was used. The
fat stains on all three skirts remained unchanged.)

3 Ou 5 Oo

(a)  Suggest an explanation why the fat stain can be removed by using the biological washing powder.
(3 marks)
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(b) What conclusion can be drawn from the results of this investigation? (1 mark)
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(c) A student queried whether or not biological washing powder is more effective than ordinary
(non-biological) washing powder in removing fat stains. If you were the student, describe how
you would carry out an investigation to find out which washing powder is more effective.

(5 marks)
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Comments

The candidate shows a general ability to apply the concepts of enzyme activity to explain the
working principle of biological washing powders. In the design of a scientific investigation, the
candidate understands the need to control some variables but he/she does not mention clearly the
method of measuring the results. On the whole, the ideas are clearly presented with the use of
some scientific terminology.
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Sample 9: Level 2 exemplar and comments

9. One of the applications of enzymes in everyday life is found in biological washing powders. To study
the effectiveness of a biological washing powder, three identical skirts with identical fat stains were
washed with the washing powder solutions of the same concentration but at different water temperatures.
The investigation and its results are outlined below:

fat stain fat stain fat stain
skirts before
washing
10°C

water temperature
used for washing

| .
result after
washing

(N.B. The investigation was repeated at the three temperatures, but no washing powder was used. The
fat stains on all three skirts remained unchanged.)

3 Ou 5 Oo

(a)  Suggest an explanation why the fat stain can be removed by using the biological washing powder.
(3 marks)
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(b) What conclusion can be drawn from the results of this investigation? (1 mark)
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(c) A student queried whether or not biological washing powder is more effective than ordinary
(non-biological) washing powder in removing fat stains. If you were the student, describe how

you would carry out an investigation to find out which washing powder is more effective.
(5 marks)
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Comments

The candidate demonstrates basic understanding of enzyme activity and the application of enzymes
in biological washing powders. The candidate has some idea of controlling variables but leaves
out the way of measuring the results. On the whole, the ideas are presented at a basic level of

written communication.
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Sample 10: Level 1 exemplar and comments

9. One of the applications of enzymes in everyday life is found in biological washing powders. To study
the effectiveness of a biological washing powder, three identical skirts with identical fat stains were
washed with the washing powder solutions of the same concentration but at different water temperatures.
The investigation and its results are outlined below:

fat stain fat stain fat stain
skirts before
washing
C C

water temperature
used for washing 10°C 30° 50°

[ [ ]
result after
washing

(N.B. The investigation was repeated at the three temperatures, but no washing powder was used. The
fat stains on all three skirts remained unchanged.)

(a)  Suggest an explanation why the fat stain can be removed by using the biological washing powder.

(3 marks)
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(b) What conclusion can be drawn from the results of this investigation? (1 mark)

(c) A student queried whether or not biological washing powder is more effective than ordinary
(non-biological) washing powder in removing fat stains. If you were the student, describe how
you would carry out an investigation to find out which washing powder is more effective.

(5 marks)
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Comments
The candidate shows elementary understanding of enzyme activity and the principles underpinning
the design of scientific investigations. The ideas are vaguely presented, with an obvious lack of
scientific precision.
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Paper 1 Section B Question 12 (refer to p. 110 of the Booklet for the suggested answer)

This question tests candidates’ knowledge and understanding of the acquisition and incorporation of
essential elements — hydrogen and nitrogen in this case — by plants to synthesize protein.
Candidates’ abilities to select and integrate relevant knowledge to address the given problem are
assessed. Candidates are required to organize and present their ideas logically and systematically.

Sample 11: Level 5 exemplar and comments

12.  Hydrogen and nitrogen are essential components of proteins. Compare and contrast the processes by
which non-leguminous plants acquire these two elements from the environment and describe how they can
be incorporated together to form proteins in mesophyll cells. (11 marks)
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Comments

The candidate shows extensive knowledge and understanding of the acquisition and incorporation of
hydrogen and nitrogen to form proteins. The concepts are well integrated and effectively
communicated in a logical and coherent manner with an accurate use of scientific terminology.
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Sample 12: Level 4 exemplar and comments

12.

Hydrogen and nitrogen are essential components of proteins. Compare and contrast the processes by
which non-leguminous plants acquire these two elements from the environment and describe how they can
be incorporated together to form proteins in mesophyll cells. (11 marks)
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The candidate shows sound knowledge and understanding of the acquisition of hydrogen and
nitrogen in plants. The importance of photosynthesis and the Krebs cycle in providing the carbon
skeleton of amino acids is mentioned though details are not adequately illustrated. The ideas are
communicated in a concise and coherent manner with an appropriate use of scientific terminology.

Comments
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Sample 13: Level 3 exemplar and comments

12.  Hydrogen and nitrogen are essential components of proteins. Compare and contrast the processes by

which non-leguminous plants acquire these two elements from the environment and describe how they can

be incorporated together to form proteins in mesophyll cells. (11 marks)
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Comments

The candidate shows general knowledge and understanding of the acquisition of hydrogen and
nitrogen in plants. However, the candidate fails to give the details of the processes by which
hydrogen and nitrogen are incorporated to form amino acids. Minor misconceptions and irrelevant
material are evident. On the whole, the ideas are clearly presented with the use of scientific
terminology.
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Sample 14: Level 2 exemplar and comments

12.  Hydrogen and nitrogen are essential components of proteins. Compare and contrast the processes by
which non-leguminous plants acquire these two elements from the environment and describe how they can
be incorporated together to form proteins in mesophyll cells. (11 marks)
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Comments

The candidate shows basic knowledge and understanding of the required concepts. Concepts
presented are confused and misconceptions on the Calvin cycle and protein synthesis are evident.

On the whole, the candidate is able to present his/her ideas, though the range of scientific terms used
is limited.

44



Sample 15: Level 1 exemplar and comments

12.  Hydrogen and nitrogen are essential components of proteins. Compare and contrast the processes by
which non-leguminous plants acquire these two elements from the environment and describe how they can
be incorporated together to form proteins in mesophyll cells. (11 marks)
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Comments

The candidate shows an elementary knowledge of the concepts.

The ideas presented are muddled
and are marred by errors.

45



	前言
	卷一　乙部　第 7 題
	示例一：第五級示例及評語
	示例二：第四級示例及評語
	示例三：第三級示例及評語
	示例四：第二級示例及評語
	示例五：第一級示例及評語

	卷一　乙部　第 9 題
	示例六：第五級示例及評語
	示例七：第四級示例及評語
	示例八：第三級示例及評語
	示例九：第二級示例及評語
	示例十：第一級示例及評語

	卷一　乙部　第 12 題
	示例十一：第五級示例及評語
	示例十二：第四級示例及評語
	示例十三：第三級示例及評語
	示例十四：第二級示例及評語
	示例十五：第一級示例及評語

	Introduction
	Paper 1 Section B Question 7
	Sample 1: Level 5 exemplar and comments
	Sample 2: Level 4 exemplar and comments
	Sample 3: Level 3 exemplar and comments
	Sample 4: Level 2 exemplar and comments
	Sample 5: Level 1 exemplar and comments

	Paper 1 Section B Question 9
	Sample 6: Level 5 exemplar and comments
	Sample 7: Level 4 exemplar and comments
	Sample 8: Level 3 exemplar and comments
	Sample 9: Level 2 exemplar and comments
	Sample 10: Level 1 exemplar and comments

	Paper 1 Section B Question 12
	Sample 11: Level 5 exemplar and comments
	Sample 12: Level 4 exemplar and comments
	Sample 13: Level 3 exemplar and comments
	Sample 14: Level 2 exemplar and comments
	Sample 15: Level 1 exemplar and comments


